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Essential Math Grade 10 Exam Review

Money
1) Calculate the unit cost for 100g to see which one costs more.
.
a) Cheese at $9.30/Ib il b) sausage at $5.61 for 275 g
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2) Sara buys eggs at 1GAY%.30 for an 18 carton, and Don buys eggs at Co-op $3.84 for dozen. W (
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What is the better deal? 9.
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3) Kole sells 1 kg of frozen turkey breasts for $15.90 and 300 g of fresh turkey for $5.50. Which has the lower unit price

per 100g? —— —
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4) Calculate each promotion

a) 20% off $880 b) 5.5% off $1939 c) 2/3 off $255 d) 40% off $12.50
(.20 x *880 0®sS x 11934 (2) s 0.4 x¥2.50
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5) Peter is a locksmith. After he ran ads in the newspaper, his sales increased by 1.9% from the previous year. His sales
were $129189 the previous year. What were his new sales?

©:019 3129187 = ¥2454.59 inceese.

129194
F1954,50

3104 3.59




6) Sara need to sell her old inventory to make room for the new inventory.
On sandals she has a 70% off savings. What will a $35.99 pair now cost?

She puts winter boots out $69.99, which she marked up 33%. What did the boots cost her?
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7) Jane paid $23.99 for a pair of pants on sale. Last week she saw the original price was $39 99. What was the sale?n {f
i off -
° % ©

6679? @ LJ\D\'} % mc ‘8‘2#? 3 '523'97‘2

’ﬂ e ‘éo‘”/wﬁf}
#6060 ,@, lco =

8) Where should Alex buy his pencils if he needs 40

Walmart: 5 pack for $2 and 15% off ' Walgreen: 10 pack for $6, buy one get one free
¥ needs 36?6&& Needs 4 packs- Ly means Zym.ls bedf .
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9) Where should Jordan buy his new tv: \MO\ 3 H/\L Mﬂ(

Costco: $2500 with a $250 rebate Sears: $2350 with 10% discount
N 530 172350 xoul - 11354
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10) Where should Kevin rent for i?. ALY

Place #1: $900 rent, plus half of rent for damage deposit before he rents, but gets 10% off first three months
Place #2: $915 a month, but first month is 30% off
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1) Name a job that gets paid in each way:
a) hourly wage cq\hyr” ¢) commission QAV S@QLSWN
b) contract('p{pg & 4?( d) salary ka[) l\,L "
2) Sara manages a clothing boutique and has an annualsalary of $37800. April works in a shoe store and is paid
$15.25/h for 35 hours each week. Who has the higher gross income each month?
¥33800 356 7 RPLLY, YiS125 A5 he =533 ok
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3) Monica is a freelance editor with a contract that pays $17000 over three months. Mika works 40 hrs each week for a
newspaper and earns $30/hr. Who has the higher gross income over this three month period? By how much?
Morne g = ¥ . WA—~9 Yhe = ¥ loolykek '
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Feco x5 W40
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4) Jacki works for a deck and fence company. She is paid hourly wage of $12.33. She usually works 8 hr days, 5 days a
week. When she works more than 40, she gets double. What is Jacki’s gross income for 50 hrs in a week?
%
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5) John earns an annual salary of $32,600. Marie earns $17.70/hr.
This year he will receive a 4.5% bonus. She averages per week: 25 hours and also gets
- $240 in tips. :
ﬁned more this year? By how much? Mﬂ’ﬂ- c )
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11) Greg wants half his money to exchange to Fiiros and the other half to Yens. His brings CAN $1000 to the bank to

exchange. How much of each currency will he get?
‘&ICN\) Ko cav
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12) Sara (Canadian) took $2000 to the bank to get Pesas. While on holiday in Mexico, she spent 2000 Pesos. She went
to the bank to exchange the remainder back to Canadian dollars. How much Canadian money did she get?
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13) You are Canadian and have a Canadian credit card. An article of clothing costs $75.99 in USA: How much appeared
on your credit card after you bought it? '

“|CAN @ 199,69 can m%zem/ed‘m ¢ et
o7 AT i

14) You take CAN $5000 to the 15) You bought $5000 US dollars.
bank and exchange to get How much did they take out of
how much US §? Your Canadian account?
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6) Paul earns $15.10/h and Yvonne earns $12.50/h plus time and a half for hours over 40 per week. Compare thej
q hes

incomes for 49 hours a week. il
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7) Sonya is a waiter and Jon sells magazines. Who has a higher gross annual income if theyboth work 48 weeks in the
year?

Cj‘ﬁ .30/hr, 40 hrs/week plus $300/ week in tlis i Jon: $500/week plus 4.2% commission on $6000/week in sales
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8) Jody installs telephones. She earns $18.29/hr plus time and a half for any hours over 40/week. Last week she
worked 52 hours.
Aidan earns an annual salary of $59000 as the director of sales at a computer company(& weebs ’7!)

W
Who had the higher gross income last week?
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9) For 40 hours a week, 46 weeks a year, what hourly wage is equivalent to an annual salary of $95,000?
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10) Mindy is an electrician and Bridget assembles computers. Mindy earns $16.50/hr and a shift premium of $1.25/hr
for hours after 6pm. Last week she worked 48 hours, including 15 hours on night shift (after 8pm). Bridget earns $7.80
for each computer. How many computers must Bridget assemble in a week to match Mindy’s gross income for the

week? (round)
MINSY, sLLOGET
e ”\’/ 1.0 =10\ 7S

ygig= S o # compers X -
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om potess
s joboffers. Job A pays $11.95/hr,

30 hrs a week. Job B pays $14.70/hr, 20 hours a week plus 2.5% commission of sales of $5000/week. Which job should
you take?
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12) The company that Lars works for installing car stereos has changed ownership. He used to earn $17.88/hr fora 40
hr week. Now he is paid $40 for each stereo he installs and he averages 18 installations a week. Does this change

gzegc Lars? Explain. % AQ Mj& hMA
W71,45 x 40 = THS L0 %WCM w[\ he dsesn /\Mw 8 S‘kﬂﬁo’\
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13) Liza is a bank teller earning an annual salary of $48000. Sasha works as a legal secretary and is paid $19.10/hr and
double time for hours over 35/week. How many hours of overtime must Sasha work each week to earn as much as Liza?

L1 oselty ooy = #20 Shumbi =508
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14) Alice manages a big-box store and earns $52800 a year. This year her company met all sales targets and she will
receive a bonus that is 3.25% of her salary. Jeff installs heating and cooling equipment for $18.15/hr and double time
for hours worked over 40 hrs a week. He averages 50 hours each week. Who has the higher gross annual income?
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15) Rhonda sells peanuts at football games. She earns $20 per game plus 30¢ for each bag she sells. She averages
about 150 bags sold per game. How much will she earn over 8 games?

~ 8 20 X 5D
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16) Marissa works 40 hrs a week earning $11.35/hr. Her deductions are El: 1.73%; CPP: 3%;income tax: 12%, union

dues: $6.10. What is her net weekly income? =
Gos el Deductors) Blie Tox Dedulv ) Texed
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Measurement i) [ 449,90 - 3464 @
1) Roger is 68 inches tall. Covert his height to feet and inches. l\)ﬁf_ [name
(3 o 14n 5x12 = bomshes

—t = ﬂ\
l‘H' ég-éngmcm u’l\f
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2) Atoddler is 2ft 11 in. To go on the bumper cars at Tinker Town, he must be 32 inches or more. Convert his height to
inches to see if he can go on the ride. ¢

21t lia
Y12 /mk\\@&d\l/&n j/) on M /*)‘\(/LV

Iinch + Win = 59




3) Convert the following measurements:
a) 4yd 1 ft 10in (to m)—

/ l/ \L . I\V\
1 + 128 rio=

c) 22 ft (to yd, ft) =
3 |
722% Tyt ’(@ i
4,5 UM -u=th Wl

d) 7 miles (to yards) =

[ e

@ 13604l

b) 353 inches (to yd, ft, in)=

3530 55m i _ [
| qg 150 @ ,47 PSR
Q36= 321/,4. 24—24= S

353J24 =19\

4) Reid ran a 5 mile race. Each stride he takesis 2 % ft long. How many strides will it take him to finish the race?

IS{"’\W =7 Y%
SMlLL lm"(e
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ol oot m Tl 2 feof of Stade = stride.
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5) You are building a staircase. Each step measures 6% in. You build a deck that has a height off the ground of 7 ft 3.5

in. How many steps are there?

I 3y m = tnchen.
S
)%6—1:{»\451?1\0 = st Y‘Wé‘/@ﬁp W"?h’f

6) Convert the following measurements:
a) 580 m (to cm)= b) 0.44(Fm (to cm)=

@ L& Vel Vo
d) 208@an (to km)= e) 0.9 m (to km)=

Do W Sz
Neggl So biew
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hoi = uvy/im.ﬁsﬁm =SS,
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¢) 109 km (to m)=

mb T lbm__,
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f) 9746 mm (to cm)=

Q746 mm

_ (D pum
9746
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-
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7) Atreeis 19.7 m to the top. How high will your ladder be in cm to reach the top?
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8) Tiles are 3 decimeters wide. How many tiles would you need to cover a room that is 2 meters wide? Is there left

over tile (how much)? NS . .IM‘
Poond 5 il & tle «
Jepem = oem = 6.F 6l hard % s

it B ofa bl
WY (1w WFF)

9) Hailey ran a 6 km race. Each stride she takes is 0.8 meters. How many strides will it take her to complete the race?

é éVK = é@O@M ﬂoce (M:l/(% =+ S?’M& CQM//A = & 5‘//,%/5 .

doctrm 0 =(7500 L |
10) Estimate the length

a) height to ceiling b) height of a juice box c) length of a car

~g- 1+ A [0en ~m.

2% Bem = 26cm  Car

). x oS = HES il

11) What (type of unit) would you use to measure these objects:
a) width of a tooth b) distance to Regina c) height of the school

mm km/m e m/j(i

12) Measure these lines:

a) (inches) Li% ot

b) (cm) lSa&CW\

c) (mm) clcg mm

13) Find all measurement in inches: a \)
“ 43
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lin=2.54cm 1ft=0.31m lyd=091m 1mi=1.61km
14) Covert the following:

a) 98 in (to cm)= b) 151 yd 2 ft (to m)= c) 7 mi (to m)=
1 x -
Qv lw BRI it Im. [

<% T 1M 35H Et. s
@ ©edlm )((mO -:_l] | L0 o4 }

d) 22 miles (to km)= e) 2vyd (to cm)= f) 47 in (to m)=

22wl < 9Fin 'v‘

15) If you are 5’2", how tall are you in cm?

Rty 1= €0 i~ + 10 = 6200 _ lin

— —

16) Derek’s pickup is 19.75 ft. Will it fit into a garage thatis 6 m lo Kf 1: 4;0
PETTNL Ko, it doo Long.

1cm =0.39in 1m=1.09yd 1km = 0.62 mi

17) Covert the following:

3299 mm (toin)= b) 8.2 m (to in)= c) 19 m (to yards)=
AUum = 9 9em ¥LOcm _ em Om |
i N U0 R ~vJ R
3 A~ 00?}9\ N
d) 73 km {to mi)= e) 405 cm (to yards) = f) 576 /.66 mm (to yards) =
}3&#‘4 ~ l’é""‘__ L(‘OQW\ lfv\ 9%6 m [W,
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18) Joelle ran a 5 km race. How many strides will she take in the race if each stride is 0.9 yard long?
Ebm I 545209 = é,O(DSeﬁM
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19) The thickness of a quarter is .955 in. How thick is a $10 roll in cm?

3 - \ (0. 921\(\ 0.?)0[1\"'\
b -3c7,§-—£10%mf}t/3 in T Pk a o
Yo X 0.9SS = B8.2 " m
Measurement

1) The basement room measures the following. Find the perimeter. (note you will have to use Pythagorean theorem)

12t x5 35 x = Xm/lf(lf 12
24 - 3LA%H b LY

» 29

K 15ft 3y <

> Zo38

2) A person puts a row of evergreens on the outside of their yard (takes up 8 ft across) followed by an inside perimeter
of smaller trees that spans 4.5 ft.

What is the new inside perimeter in feet? %—CZy12LT> =1 17(
’cé\«t%ﬁ%ﬁ/( - -
z ( 2\l 200ft /‘63r\’ /L{‘M ,'LO _(’)_xlztﬂ =~ q{

N

120ft P=(2 x l7§>*’ CLY%V)
=S40 [

e, i

3) The identical holes in this exhaust manifold are equally spaced. What is the distance from the center of one hole to

the center of the next? 75
: . o
[(»’LS-V\ % 3 - ‘7)078

The distanee s AT inches .

11.25in

4) A carpenter cuts boards that are 8.9 m long into 7 equal shelves. What is the length of each in centimeters?

<

T 29 = (P I [125em



5) Aroll of tubing is 30 ft long. Abram needs to cut off equal pieces that are 2.2 m long. How many pieces will there
be? What length of tubing will be left on the roll (in feet)’ (QH
-Tlu'u/‘(’ wau

o et _ d
/QQD QM ’L?_m q O:%8m  O3nm beiplfﬁé)’

g I
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6) How many 3% in lengths can Nathan cut from a 30 in piper? Is there leftover, if so how much? ] l);

540238 gaapeo g Nede
(23 o et 9 bu?ﬁv)
ve T 5 L;l:tl/\ 0,6 opﬂn t\’\CL\/ (MH'

7) Jessica buys 44.9 L of gas at a cost of $1.03 per liter. How much does it cost for the gas?

b0y _ 19657

-

IL 4490

8) Adam walked 0.95 km to the golf course, then walked 6325 yds on the course, then home. How far did he walk all

togEthTm [Oygs—(,

6 325 Lﬁ&‘fi— oM o F6325
B Ln| 0.0k 7@7 +|p3S 5%
%2 74

@e%/ow + S69bim + 0B lrm=

9) A triangle has a perimeter of 133.8 m, and has equal sides. How long is each side?

10) Kiara is making a display for a trade show. She plans to put a decorative border around the display board that is
72 in tall and 50 in wide. Borders come in packages of 30 ft How much border will be left on the roll?

T et Rl en,
Hin @ s




11) A cylinder grain bin has a base diameter of 20 ft. Jake sprays around the bin with round up to make his mowing
easier. One jug of round up covers 60 linear feet. Does Jake need to refill or not?

& C/:&a &J{’Q N‘U ne el
L) L6k

12) Jordan sets up the pool that has a 13 ft diameter. Then he walks around the outside to inspect that all looks well.

He can cover 1m in one step. How many steps did he have to take? W
—— -
e ‘ - i Jordon o

2 0F < 40> Oy o
" ; =t X LI«OS_Y*_’I
(266 Steys
:IZcééW’ CFOM 15>
(Lstep= | m)-

13) What is the difference in cnrcumference if the big C|rcle hasa 12 m radius? |

w’%lﬂw x5 =

smadl C= Bxec A
' - = Yo.Em ’w

24.6m

b?) C < 24mrm

-~ e N

Area

1) Estimate the area of your calculator in sq cm.

Vorw> chpwlw? on caleolob

2) What can be compared to 1 in??
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3) Estimate using the grid (1 sq ft)

%jw“mﬁ?l
ST

S A

5) The area of a lake is 19,210 km?. What is that in square miles?

[ lem l Lt

920

T okl " [Bvdami

6) Jordan plants@@@f corn.

loere
Holden®

7) What are the dim

T 16l S

Joan * 1

How many square meters did he plant?

T |

each stage? (LxW and diameter)

k/
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8) Find the area of this living room. -LFI\“MVA '/QD X h)’:‘ Z - g.‘s XS"I
‘ a 10.9m ;(20\ )G'\l)%l - 4y tym*
| (g : = B
| \i' Z Nt /—{R%
| [ 5.1m _ 7 B LN + ree
f : B ﬁw RM— én 7L ggf,ﬂ—
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8.8 m
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s 9) Helena wants to put more topsoil in her garden. It costs §1.08 per square meter (to cover the top 3 inches). How
much will the garden cost to cover in topsoil?
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10) How much total wrappfhg paper will Erika need to buy to cover her three present ? (750%
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11) Canvas material costs $1.30 per square meter. How much will i cost to build this tent? 7 %mL
o ‘tﬂ Zal')( l >_ X e

bo“r&w\ < 2.3%xY = ©2m>
""""" 2L, 2m*t

sides >34 x 4L =
SN / ‘/5:?6m
X /030
; L3, | % it
W (oot 5(3 A% b w @

12) Mike put this figure together. What did it fe6 k)(when\{ as unfolded (net)?

13) Calculate the cost:
$3/ sq ft to pour sidewalk cementﬁ;loz— eo

$0.75/m? to plant grass¥3.46.
$2.10/yd? to lay dirt for garden H(L(D%S‘
Note: It is symmetrical. The sidewalk is 3ft wide everywhere.

Gasamlok (%) diddam ft (1)

rect .= coele R ;
.\I/ |
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s el ond )
15 X3 L= S
lyy3x 2= §4F
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Angles and Parallel Lines

1) Match the‘following with a picture

Acute angle 3 Obtuse angle '2

Straight angle Perpendicular lines h \
<
Alternating exteriorangles_ { Opposite angles
alternating interior angles _ " Adjacent angles _ €
130°
a) b) c)

e) g)

N\
-
..\A
v

Right angles_€.. Reflex angle L

Parallel lines L Transversal line l“

Complementary ) SupplementaryQ

Corresponding angles

4
v

h) v

300°

e M

i) k)

/ ! ~*40°
x/ - P 2/v i

N
~N
™
V3
/

50°
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2) Estimate these angles first then measure their exact angle:
b

estimate

VpoD

measure \f)\&o 7'10 C[@ P 180& é}@ “ %o 3089

3) Draw the following angles:
149° 12° ) 233° 341°

<

X
G
N%

/N



4) Find all the missing angles

N e
pal (3
P\

A 7 x
A )} g % o

(2 te

5) Bisect the obtuse angle and replicate the acute one

I P Cuie on

At pa%i



Rzt obl = |[S+2= L
X Qagjlzmx‘e wutes el 657

7) Find all the missing angles

—>




R R
L

Similar Figures

1) Are the following figures similar? If so mark all corresponding angles.

\{QS\Q .

No|

6 10
12 14
1.5
21
2 06N gt P DISIS R\
12 ‘b % 5“\0\‘ ecbo
q 0b Y
\ e L -
o % - Oog
1\ [
2) Draw a similar figure with a 0.75 scale factor, include all measurements.
[2x095 = q
§[x 077> 3035
1< 035> oy
51t o35 -39.1C
2% 035 = 15,95
r’w«"‘" qer Sler
\6#"‘ u.mv‘-\
3n i~

3) Measure the sides of the two similar triangles. Determine the scale factor (from bi%tt) ’imall)

%

{

TLem = 0833

ft |?LF‘I

Som

S lem

- 0:%3

< 00?3%




4) Jim is standing by the deer statue is Tantallon, Sk. How tall is the statue?
Jimis 72 inches tall. His shadow is 5 ft long. The deer’s shadow is 8 ft 4 in long.

12-\’\ éo 1

am———

\ 15 G

% = hai lﬂlo\( %ﬁ\){\"&

-|120in o~ [OH‘
5) Mike operates a backhoe and wants to know how tall it is. (ﬂ E- )
The distance from A to Cis 150”. The distance from B to C is 60”. Mike is 6’2" tall.

What is the scale factor? How high is the backhoe? ﬂ
' l

BTN gd(a
X 6) Lana is making a pattern to sew onto her costume for dance. Her f bric is 12 cm x 25 cm. She wants to reduce the
pattern, becoming 6/10ths of the original size. What is the new dimension of her pattern?

‘.6,_ = ‘
lZ(,M X 0 —;1426“ jﬁew oﬂimuvm = 7920“4 )(m
15cm X 55 = B o

7) What would a triangle with a scale factor of 125% have with side and angle measurements?

LbHx L.25= 649 X'M Awn

(OOC\ %8 x 15 = lo.6 NSN
. 85— 10 \
55 'OF‘K [‘ {:\gté M%&M
109_ 1257 (00 =125

)\5 b .
¢ /‘ )
5% an a doliamad.
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8) These two homes are similar. The first house in the actual one. The second house is the scale drawing. Use the scale
to find the actual height of the real house.
lin 0,25

N Scale Drawing ’S’f‘r - E

\k,,wv\
i IM 2e bl of ok Bovse in 1F

1 :(
scale: 2in to 5ft ( - 15'6 ‘P+
Lo ke

9) Sam is 5'8”. She casts a shadow 4’1”. The building casts a shadow that is 19’. What is the height of the building?

|Gt

Trigonometry

1) Determine if the following are right triangles or not. B@)@) i+ mw V‘{h’\‘ ﬁ‘)f{aw Jf\/\l oleun>
Yoo f‘.1h\' ,
15 A Be . H,
36 b - o\' g \? '
18
T L\ 22 b

38 C

Glﬂo?‘:(j’

Jgr 0t =18 T
2) 37 371 brre 4~

5+ 36 7 2244 41y = 78

215 4129 = LI 256 f}gt/ X
5l =150 V7

Q-

atrb*=C
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2) Dorothy needs to know the slant height before calculating the area of this pyramid. The pyramid is 15 in high and the
distance to the center is 10 in.

R

A\ ’
Zbg M b m” -
A\ . 2.
o W
a

18,05 = C

3) You leaned a 20 ft ladder 16 ft up the wall. How far is the ladder base away from t

. e
‘(}\’ 104 W

v ATV
N
96

oY - }\’L
4) Arthur wanted to hit the ball directly north, but hit the golf ball (h" > g
10 degrees off course and it travelled 200 yd, and landed directly N—’] U M‘
west of the hole. /((’LDD X gfyl)}
G)-Iow far is the golf ball from the hole?"x'/? 4 1o l
b)-low far is the hole from the tee? xjﬂ m ' 7 %

: (c(d‘)
a) SeH b) CAH f
2»\ 0= 2= o 0= s e bl - 3’-}3716 weal”
’ L0yds 204
Jeogdoy M 10 = K wwfd)x o5 10:7 o Veke-
3 Fds= A 193 ods Zj I e o [01]-\/5[5 Prom

5) Find the missing side.

xorp

0
off 18 QJ20 "-ﬂ"’ LS= E‘
> Jas° L0




6) The steppest code that stairs can be is 8in of rise for each 10in run. What is the steepest angle the stairs can be?

7) Find angle x.

_ — -
o - 5
20 O?P /Z é [ L{
9) A boat drops a 40 m long achor. Itison a 36 degree angle to the boat. How deep is it to the bottom of the lake?

AP on noyd V@V(,

EO#OW\ 9{ ﬂl\g (¢ be s
¥\;\)an 6N NL}(‘( Pﬁ})’s . O&Q; 4




%\\ny’ \\yf
4

b ? 4o
lox Sin% = d

10)

A ladder that is 15 ft is leaning against the side
of a building. If the angle formed between the ladder
and ground is 72 °, how far will Coach Jarvis have to
crawl to get to the front door when he falls of f the
ladder (assuting he falls to the base of the ladder)?

9&0‘4 2N w,'l/(. ,
Ces }'L: E:‘ C Sﬁl /
Nw ({LD meQ L{néle{‘o
[ TxcoFL=X
Yo Pt -

11) From the top of a 300 ft lookout tower, George looks down at a 25 degree angle of depression and see a fire. How

far from the tower is the fire?
° ¥
dan 65°= 2

Seott

[6V) XWI’M 65 = Xk
les3y =

-
-




